

(4)

Also,  $(\alpha - \beta)(\alpha + (\alpha - \beta)(\alpha + \beta) + \alpha(\alpha + \beta)) = \frac{37}{2}$   
 ~~$\Rightarrow \alpha^2 - \alpha\beta + \alpha^2 + \beta^2 + \alpha^2 + \alpha\beta + \alpha^2 + \alpha\beta = \frac{37}{2}$~~   
 $\Rightarrow \alpha^2 - \alpha\beta + \alpha^2 + \beta^2 + \alpha^2 + \alpha\beta + \alpha^2 + \alpha\beta = \frac{37}{2}$   
 $\Rightarrow 3\alpha^2 + \beta^2 = \frac{37}{2} \Rightarrow 3 \cdot \frac{25}{4} + \beta^2 = \frac{37}{2}$   
 $\Rightarrow \beta^2 = \frac{75}{4} - \frac{37}{2} = \frac{75}{4} - \frac{74}{4} = \frac{1}{4} \therefore \beta = \pm \frac{1}{2}$

$\therefore$  The roots are  $\frac{5}{2}, -\frac{1}{2}, \frac{5}{2}, \frac{5}{2}, \frac{1}{2}$

Ex. 2,  $\frac{5}{2}, 3$

If we take  $\delta = \frac{1}{2}$  we get the same roots

Ex (1), Solve, the equation  $6x^3 - 11x^2 + 6x - 1 = 0$  whose roots are in H.P.

Soln  $\rightarrow$  Let  $\alpha, \beta, \gamma$  be the roots of the equation

$6x^3 - 11x^2 + 6x - 1 = 0$ . Then

$\alpha + \beta + \gamma = \frac{11}{6}$  (I)

$\alpha\beta + \beta\gamma + \gamma\alpha = 1$  (II)

$\alpha\beta\gamma = \frac{1}{6}$  (III)

$\therefore \alpha, \beta, \gamma$  are in H.P. (given)

Hence  $\beta$  is the H.M. between  $\alpha$  &  $\gamma$  and

$\therefore \beta = \frac{2\alpha\gamma}{\alpha + \gamma} \Rightarrow \beta(\alpha + \gamma) = 2\alpha\gamma$

$\Rightarrow \alpha\beta + \beta\gamma = 2\alpha\gamma$

$\Rightarrow \alpha\beta + \beta\gamma + \alpha\gamma = 3\alpha\gamma$  (IV)

from (I) & (IV)  $3\alpha\gamma = 1$  or  $\alpha\gamma = \frac{1}{3}$  (V)

(3)

Ex-1) Solve the equation  $x^2 - 9x + 14 = 0$ , two of whose roots are in the ratio of 2:3.

Soln.  $\rightarrow$

Let the roots of the equation be  $2\alpha, 3\alpha, \beta$ .

Then we have

$$2\alpha + 3\alpha + \beta = 9 \Rightarrow 5\alpha + \beta = 9 \quad \text{--- (i)}$$

$$2\alpha \cdot 3\alpha + 2\alpha \cdot \beta + 3\alpha \cdot \beta = 14 \Rightarrow 6\alpha^2 + 5\alpha\beta = 14 \quad \text{--- (ii)}$$

$$\text{From (i), } \beta = 9 - 5\alpha \quad \text{--- (iii)}$$

Now, ~~(ii)~~ (ii)  $- 5\alpha \times$  (i) we have

$$19\alpha^2 - 45\alpha + 14 = 0$$

$$\text{we have } \alpha = \frac{45 \pm \sqrt{(45)^2 - 4 \cdot 19 \cdot 14}}{38}$$

$$= \frac{45 \pm 31}{38} = \frac{76}{38} \text{ or } \frac{14}{38} = 2 \text{ or } \frac{7}{19}$$

$$\text{If } \alpha = 2 \text{ then from (i) } \beta = 9 - 5\alpha = 9 - 10 = -1$$

$$\text{If } \alpha = \frac{7}{19} \text{ then from (i) } \beta = 9 - 5\alpha = 9 - \frac{35}{19} = \frac{136}{19}$$

But  $\alpha = \frac{7}{19}$  and  $\beta = \frac{136}{19}$  do not satisfy (ii)

Hence we take  $\alpha = 2$  and hence the roots are 4, 6, and -1.

Ex-2) Solve the equation  $2x^3 - 15x^2 + 37x - 30 = 0$  whose roots are in AP.

Soln.  $\rightarrow$  Let  $\alpha - d, \alpha, \alpha + d$  be the roots of the equation

$$\text{then, } (\alpha - d) + \alpha + (\alpha + d) = \frac{15}{2} \Rightarrow 3\alpha = \frac{15}{2} \Rightarrow \alpha = \frac{5}{2}$$

②

It's observe that the number of  $\alpha$  roots in  $n\alpha$  for this is equal to the number of combinations of  $n$  roots taken two at a time. Similarly the number of  $\beta$  roots in  $n\beta$  is  $n\beta$  and soon.

Working Rules

Let  $f(x) = 0$  be a (complex) equation of the  $n$ th degree and  $\alpha, \alpha_1, \alpha_2, \dots, \alpha_{n-1}$  be its  $n$  roots. Then

Sum of the roots =  $-\frac{\text{Coefficient of } x^{n-1}}{\text{Coefficient of } x^n}$

Sum of the product of the roots taken two by two =  $\frac{\text{Coefficient of } x^{n-2}}{\text{Coefficient of } x^n}$

Sum of the product of the roots taken three by three =  $\frac{\text{Coefficient of } x^{n-3}}{\text{Coefficient of } x^n}$

Product of all the roots =  $(-1)^n \cdot \frac{\text{Constant term}}{\text{Coefficient of } x^n}$

for ex ① Let  $ax^3 + 3bx^2 + 3cx + d = 0$  be cubic equation and  $\alpha, \beta, \gamma$  be its roots.

Then we have,  $\alpha + \beta + \gamma = -\frac{3b}{a}$

$\alpha\beta + \alpha\gamma + \beta\gamma = \frac{3c}{a}$

$\alpha\beta\gamma = -\frac{d}{a}$

5

From (iii),  $\beta \cdot \frac{1}{3} = \frac{1}{6} \Rightarrow \beta = \frac{1}{2}$

Now from (i),  $\alpha + \frac{1}{2} + \gamma = \frac{11}{6} \Rightarrow \alpha + \gamma = \frac{11}{6} - \frac{1}{2} = \frac{4}{3}$  ~~(ii)~~

Now solve (5) & (6) for  $\alpha$  and  $\gamma$ .

We have  $(\alpha - \gamma)^2 = (\alpha + \gamma)^2 - 4\alpha\gamma = \frac{16}{9} - \frac{4}{3} = \frac{4}{9}$

$\Rightarrow \alpha - \gamma = \pm \frac{2}{3}$  ~~(viii)~~

Solving (v) & (vii) we get

$\alpha = 1, \gamma = \frac{1}{3}$  or  $\alpha = \frac{1}{3}, \gamma = 1$

Hence in either case the roots are,  $1, \frac{1}{2}, \frac{1}{3}$

10

By Prof. Abhimanyu Kumar  
Choudhary  
Dept. of Math  
P. N. College - Bhagalpur  
T. M. B. V.

15

20

① Relation between the roots and coefficient  
B.Sc part I By Prof. Abhinav Kumar  
 Choudhary B.N. College BGP

Let  $\alpha_1, \alpha_2, \alpha_3, \dots, \alpha_n$  be the roots of the polynomial equation

$$a_0 x^n + a_1 x^{n-1} + a_2 x^{n-2} + \dots + a_{n-1} x + a_n = 0 \quad \text{--- (1)}$$

then we have the identity

$$\begin{aligned} a_0 x^n + a_1 x^{n-1} + a_2 x^{n-2} + \dots + a_{n-1} x + a_n &= (x - \alpha_1)(x - \alpha_2)(x - \alpha_3) \dots (x - \alpha_n) \\ &= a_0 (x - \alpha_1)(x - \alpha_2)(x - \alpha_3) \dots (x - \alpha_n) \\ &= a_0 [x^n - (\alpha_1 + \alpha_2 + \dots + \alpha_n) x^{n-1} + (\alpha_1 \alpha_2 + \alpha_1 \alpha_3 + \dots + \alpha_{n-1} \alpha_n) x^{n-2} \\ &\quad - (\alpha_1 \alpha_2 \alpha_3 + \alpha_1 \alpha_3 \alpha_4 + \dots + \alpha_{n-2} \alpha_{n-1} \alpha_n) x^{n-3} \\ &\quad + \dots + (-1)^n \alpha_1 \alpha_2 \alpha_3 \dots \alpha_n] \end{aligned}$$

Hence equating the coefficients of the like powers of  $x$  from both sides we have

$$\sum \alpha_i = \alpha_1 + \alpha_2 + \alpha_3 + \dots + \alpha_n = -\frac{a_1}{a_0}$$

$$\sum \alpha_i \alpha_j = \alpha_1 \alpha_2 + \alpha_1 \alpha_3 + \dots + \alpha_{n-1} \alpha_n = \frac{a_2}{a_0}$$

$$\sum \alpha_i \alpha_j \alpha_k = \alpha_1 \alpha_2 \alpha_3 + \alpha_1 \alpha_2 \alpha_4 + \dots + \alpha_{n-2} \alpha_{n-1} \alpha_n = -\frac{a_3}{a_0}$$

$$\alpha_1 \alpha_2 \alpha_3 \dots \alpha_n = (-1)^n \frac{a_n}{a_0}$$